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Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and
ensure that:

- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same,

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR
Answer Sheet. No claim/objection in this regard will
be entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SNUHHA IG{-9=E 6 ue &u o e Fla 92

Read all instructions on the reverse of OMR Answer
Sheet,

3. SUHSNIT SUL-9IE T HAH 6 AT SEe 9 2 W we |
AT, STHHTT ST 5 11 Vet AT ST 3 ST
w8 aT F AL
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly
in OMR Answer Sheet.

4. T wgA % gu ot ¥ 1Ok e uw & oo s d i
T aiferd Tl WG § A S) TEd I9C A Al
All questions carry equal marks. If more than one

response is marked for a question, it would be treated
as WIOng answer.

5. o We A Ui (e i & | wee = e e A, B, C
#frt D I waT & wdfua § i sieat e e ‘E
‘araite g | werd gl
Each question has five options/circles. First four options/
circles A, B, C and D are related to appropriate answer
and fifth option/circle ‘E’ is related to ‘Question not

attempted’.

6. TE ST A9 & [T STEdl 1 H1UH.H. SE-TE 9
Tt WeT S % e |1 e A, B, C 71 D ¥ § aw
e P et 2 S A e S & WA B Sy
e Wet T T TET S A & wred faseari B @
TET HLAT BAT
To indicate the correct answer, the candidate has to fill
in only one option/circle A, B, C or D with blue ball

point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer
any question then the fifth option/circle ‘E' should be
darkened.

7. aft ura Pt ¥ & 5 A e e o e a@
wgA w1 1/390 ot Fre forar s
1/3 part of the marks will be deducted for the questions,
if none of the option/circle options are darkened.

8. 10 whryra & it wai F et i famma it &1 aregdt 2
e =1 TR T o =@ aher % ferg s it B

ST

If a candidate leaves more than 10 percent questions or

does not darken any of the five options, he/she will be

disqualified for the exam.
1 U WI % (10 %A 4 & U fame e W ¥

o1 ThI TB FHT % T 10 ez it oo S
Candidate will be given 10 minutes extra to make sure,
if he/she has filled up any one option/circle for each
questions.

10. af% Wee % F5=51 a1 AT FERT01 H G20 T TATES THIA B
PRt it BT BN ST ¥, A ST HenTe Bl S
HET AL
If there is any sort of ambiguity / mistake either of
printing or factual in nature in Hindi or English version
of questions, then the English Version will be treated as
final.

11. w8 Bt 3§ S B famga = e = @z
etz 1 SUEr HEa Atda & | afx e sreadi % ar T w
;ﬁw&m [Tl O T A 35 (A6E FAEIgEIT SE H1E

AT
Use of Mobile Phone / Bluetooth Device or any other
electronic gadget in the examination hall is strictly
prohibited. Ifany such prohibited material is found with
any candidate, strict action will be taken against him/
her as per rules.

AT : arE e T e % T g YN e § a1 fad 9l

ST T T A & A SES U B1g g S 9 St E
ol 9% faes A | UE. S S T Bl A AT 6
T FETE atafTam, Zgzmﬁsﬁﬂ; afhﬁng;%
(el % FIEt %1 UEA™ % FIE) F d6d B
tmmﬁm 2rm fagd 10 af & siEs srE g T 10
FTE 9% 1 WEAH ¥ | 53 4 @ wfaey B adt ol § s
w § fraffa W e =0 ws@ B

Warning : If a candidate is found copying or using unfair
means or if any unauthorized material is found in his/her
possession, E.L.R will be lodged against him/her in the Police
Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair
Means in Recruitment) Act. 2022 and Amendment Act 2023.
The act has provisions of imprisonment of 10 years to life
and fine up to ¥ 10 crore. Board may also debar him/her

permanently from all future examinations conducted by the
Board.

9.

T AT g 1 a9 O A W 9d o e A AT |/ Do not open this test booklet until you are asked to do so.
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- The instructions or data fetched from the

memory, is stored in the to decode
and execute.
AR | W ST AT fAaet A guteq s

¥ N8 gearmm (Rers) &t aftom a% qgamn
S 2

(A) MAR (B) MDR

(C) PC (D) ROM

(E) Question not attempted / STaRT 98T

A child has to cross road and reach the school
opposite to his house. The child looks on
right and left before crossing the road. On
observing that no vehicle is coming, he
crosses the road and reaches school. What
action of algorithm is represented by the
child in the above situation?

(A) Input (B) Output

(C) Selection (D) Repetition

(E) Question not attempted

Teop ST 319 ©X % fqudia Ryd e o1 & fog
¥Sh TR HIAT ATEAT & | T T6h IR DA b
Td §7$ SR qUT §1F S @ ¢ | qE A B o6
B A& ST EY &, TE WD UK B ferernerd
vgg W ¥ YUl Rafy o w= & g e
e ¥ fp YTy % TR &1 FART fohar ST
g7

(A) gz (erm) (B) omseye (frfa)
©) g™ (D) ggR
(E) organa 9ed

_____converts the analogue voice signals into
digital and then transmitting them over the
broadband line.
(A) Video conferencing
(B) VOIP
(C) Chatting
(D) Website
(E) Question not attempted
ey STarst R i fefsted o e
¥ qur 3@ @ s ¥ W WHEEAT B 2
(A) fafsar siassrT
(B) VOIP
(©) =Af&
(D) <wEEe
(B) ogana 9

Consider the Excel formula for the .Excel
Sheet -

& T Excel SﬁZ%ﬁTQExcelW‘i@fﬂﬁrﬂﬁ“

HE —

{alBlCciD g

Il

1160 ]| Al |75 al if (A1=C1, nTn’"nFﬂ)

70 | A2 | 70 | A2

I
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Il

3190 (A3]|90|A3 if (B3=D3,‘ T

What will be the output in column no. 5?
w5 % Fn fria w= g

F T
(A) g ® T
F | T
© T ® T
T T

(E) Question not attempted / SFFANRT }E‘rﬁ

All the different components which make
up the processor have to be condensed to fit
in the smart phone. It is known as

(A) Touch on a chip

(B) Memory on a chip

(C) Processor on a chip

(D) System on a chip

(E) Question not éttempted

TR B T § wgE Rt Tt # T e
@ﬁaﬁﬁmw%mﬁswﬁwﬁﬂﬁwﬁlﬁ
ST ST ¥ -

(A) == o= T ™

(B) ¥l & T faw

(C) ¥R &t T R

(D) few &7 g i

(BE) orara usd

~ [Contd....-

if (A2=C2, "T","F") .

23INAS-1]1 A

is‘an example of impact printers.

(A) Laser printer

(B) Inkjet printer

(C) Deskjet printer

(D) Dot matrix printer

(E) Question not attempted - -
e fieT &1 TSI ¥

(A) ﬁmfﬁ-a

(B) Wﬁ?{
(C) Tz fiex
(D) sie Atz i
(B) orgai@ ued

Class 9th student, Mahi visits the bank for
the first time along with her father. She
observes that father is issued with a small
book which her father tells that it is a cheque
book. She opens it and finds some pre-
printed information on it. Some of the
information printed is same on all the pages
but one number is printed in a serial order.
She tries to change it. But she is unable to
do it. Why she is not able to change it?
Identify the specialised feature of the cheque.
(A) OMR Code (B) BAR Code

(C) QR Code (D) MICR Code
(E) Question not attempted

e 9 WY BIET HE U AT B T UsEl I
¥ I T I @ ¥ 6 Sus Rrar @ T BT
gRae & T 8 sa R 9% 9% BEd €19
T Tdr & o Ul ¥ fF 39 W usw € 3®
e ST ¥ | 5 & BB SIRIET T T
T T E U U 3 HAE forar gat ¥
qE TU SO dI TAE B § U STEBA Bl § |
€ 3 seon o FEHd Y ¥ ? 9 B 39 fafite
fagroen @ TEEm|
(A) OMR &'
(C©) QR =&

(E) organid ued

(B) BAR @15
(D) MICR &

10
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Representation of data in a graphical manner
is an important feature of Excel. Identify it.
Also give the name of the component
depicted below -

20 —
15 —

Sl
A B C

(A) Image, Bar (B) Image, Column
(C) Graph, Bar (D) Graph, Column
(E) Question not attempted

fepir aifepe @l T edvT BT Excel &1 &

T ¥ 5@ veae g fow ¥ T R a6

fpa = & 2P e wmar &7

20 —

15 -

10 —

100 o

A B e

A) =, €< (B) &=, =W
(©) umw, ¥ - (D) UH, WY
(E) orgara usd

How many layers are there in OSI Model?
OS] wise & fopa HwX 87

A 3 B 7

<) 4 (D) 6

(E) Question not attempted / ST LT

Which is the first ever arch dam in India?
(A) Hirakud Dam

(B) Bhakra Nangal Dam

(C) Mahabali Dam

(D) Idukki Dam

(E) Question not attempted
I o1 qee IehId ST B |18 7
(A) ERgs 1™

(B) r@ST — A@ S1Y

(C) wemEw 1™

(D) sgf% =t

(B) orgara ue

[ Contd...
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You are given below a question followed by

two statements I and II.

You have to decide whether the data provided

in the statement is/are sufficient to answer

the question.

Question : .

Which day of the week is on 20 October.

Statement :

L. First Sunday of this month falls on 1
October. :

II. Year for the given date is 2023.

Answer - A

(A) If data in statement I alone is sufficient

to answer the question.

If data in statement II alone is sufficient

to answer the question.

If data in both the statements I & II

together are necessary to answer the

question. '

If data in both the statements I & II

together are not sufficient to answer

the question. :

(E) Question not attempted

e Y T W9 AT IHS 18 I B [ 3l

1 g 7 | euet 9% @@ & Em 6 wuw

¥ e T STeT 9N @I ITX I & g waTa ¥

T 7 ?

U+ @ %

20 SEZEX B TAE BT b A7 f&F ar?

H®YA ¢

I 39 AW & usen WEr 1 sEgEt @ oanl

I & ¥ fafy & af 2023 %)

(A) af¥ Faw wu I &1 ST UST @1 IAT A

¥ foe qaia #)

af Paw wuw 11 & R w7 sy 9es @

TN 3 & fow wata ®1

g% 99 &1 9K 39 & forg waw I siv 11

- & faar T st Sy smave® R

gfy o 1 of 11 S & T ster, 9 @t

I A % fog w7 R

FaRa 9ed

(B)
©)

D)

(B)
©
D)

(E)

12

13

14
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LCD Panels or flat panel display uses the

property of .

(A) Fiter (B) Thickness

(C) Light (D) Size

(E) Question not attempted

LCDF @ AT e M H yge & T
BT AR B ¥

(A) X (B) =g

(©) =z (D) =R

(E) orgaRia ued

is a complete software of a third
party that is installed on the host computer
and can be used by the browser for multiple
functionalities. ‘
(A) Firewall (B) Add on
(C) Plug-in (D) Extension
(E) Question not attempted

T g Ul & Yl wiweda §
TR HFYY § STAT SIaT § qUT §H F8oK F
Syan frar wmar ¥ aiie fafe=r femaesaral @t
o= fpam S @ |

(A) wEE (B) uws &=
(©) @ (D) U™

(E) ogana usd

‘Organising the data in a software so that
the information is relative to multiple files
using a search method.” Which are the most
important features of the software that enable
to filter the data. Identify the best option for
1 SRR

TR STreae & STeT %Y Wiifea fopa Swam € e
g faftr & fafv= el § @5fm s
U & TH | T | WFRAAT B qIY AS@L
fastwand @ ¥ S ST @l Biew § HEE HW 2
woge fed g

(A) Access, Query

(B) Word, Find

(C) PowerPoint, Selection

(D) Access, Find

(E) Question not attempted / STFART T

[ Contd...
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16

17

18
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(©

Myopia is another name for which defect?
(A) Long - Sightedness

(B) . Short - Sightedness

(C) Colour - Blindness

(D) Haemophilia

(E) Question not attempted
AT, e Y BT gE W g P
(A) ¥ 3fe A

(B) frme - gfe

(C) qurterar

(D) e

(BE) sgafa g

Binary file contains machine readable

characters in and format.

@A 1,0

(B) Alphabets and Numbers

(C) Special characters and Numbers

(D) Alphabets and Special characters

(E) Question not attempted

feamard wEw & 9909 T} 99 9N A gudie
3frc B 2

1,0

SR, e

(C) fafyre dudien qom gen

(D) &R qur fafite dwdies

(E) ogar@ us

Every NIC Card attached to the node of a

network has a unique MAC address. This

MAC address is of bit address.

w&& NIC @16 st faell Feadh & i & 52 &,

S sfgdm MAC Tgd 8ar 81 98 MAC T
% %1 IaT B §

(A) 48 B) 96

128 (D) 256

(E) Question not attempted / ST W9

(A)
B)

9O><15—12><2O~:-l
: 2 1 B

[70x8+11x5] 2
A) 1 B) 2
©) o D) 3
(E) Question not attempted / STRRT W9

19

20

21
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There are certain number of benches in a
class. If 4 students sit on one bench then
1 bench remains unoccupied. If 3 students
sit on one bench then 23 students remain
standing in the class. Find the number of
students in the class?

U Hel 9 $5 ¥ ¥ 1 afy ude ¥ 9 4 femelt
I3 @, | ¥ @ @ T ¥ 9l y@de ¥ w
3 Tt @ fqemn s 23 Rreneft war &
TS & WA ¢ | %en A po faenfay @ gen s
I

(A) 48 B) 78

(©) 104 (D) 110

(E)  Question not attempted / sTafka w9

Find the missing number -
T T T B —

1141|712 |18

2120(56|156 | 2
A) 215 (B) 188
(C) 342 (D) 472

(E) Question not attempted / IARA g

When a user initiates multiple process to
the computer then the computer follows
FIFO method. The expansion of FIFO is
(A) Formula In Formula Out

(B) First In First Out

(C) Figure In Figure Out

(D) Flash In Flash Out

(E) Question not attempted )

T T SUARThAT el § §g hhAnd emw
BT & @ HYeX FIFO &1 Srurer wear ¥l
FIFO @1 fagga &7 & —

(A) T T WRET ST

(B) W€ T WE aMSe

(C) M 57 fam ammese

(D) RIS T WA IATHE

(B) orgar@ usd

[ Contd...



22 Given below is a statement followed by two | 23
assumptions I and II. You have to consider
the statement and decide which of the
assumptions is implicit from the statement-
Statement :
‘BURBURRY’ brand purses are for the rich.
Assumption :
L. Many people like to be labelled rich.
II.  One is not rich if he/she does not have
the purse of that brand.
Give answer -
(A) If only assumption I is implicit.
(B) If only assumption II is implicit.
(C) If neither Of the assumptions I or II is
implicit.
(D) If both the assumptions I and II are
implicit.
(E) Question not attempted
I T ®ee R T ¥ e 9w & et
13l 11 < 78 ¥ omaeht e X foam & & | oy
R Frofg @1 & 6 &9 o awon saw &
satifea 1
HYA
‘BURBURRY’ &is & q& &= @i & forg 31
qron .
L &3 @ &=t HeaT 96 B Tl
II. 3 et & U 39 wis &1 96 «& &
e iR o T2 &)
X AR — ber
(A) Few g 1 9 31
(B) waw =reom 1 99 %1
(©) & gron 1 e 71 & 1 711 %)
(D) 3 arond I qer I o/ ¥
(E) orgafa ued
23INAS-1] A\ Page 6 of 32

In the diagram given below :

®

® indicates
(A) Output (B) Input
(C) Repetetion (D) Process
(E) Question not attempted

& o o A

process.

®

®  ufew @ Fetg e B
(A) @m8eyge B) FTYe

(©) gt (D) witman

(E) orara usT

The five rings of the Olympic symbol are in
five different colours. They are Red, Green,
Yellow, Blue and .
(A) Indigo (B) Violet

(C) Orange (D) Black

(E) Question not attempted

Sirefas fags & 5 M 5 e O & & fad
T, T, G, A SR EUR A

(A) shem (B) Frh

(C) =T (D) e

(E) organa v

Pen drive is one of the most popularly used
device and can be used in port.
U $1E9 TH V&€ A I & g e
A WA fear SToEemar ¥

(A) SSD (B) USB

(C) UBS (D) SD

(E) Question not attempted / TR ¥

[ Contd...
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Virtual memory is a memory management
technique where -

(A) Main memory can be used as
secondary memory.

(B) Only secondary memory is used.

(C) Secondary memory can be used as |

main memory.

(D) Data transfer is restricted between
main memory and secondary memory.

(E) Question not attempted

T AR T A g deeie ¥, et -

(A) T= 790 & facdos 39 & w9 & g
fopam wmar &)

(B) ad faciiaes A8 @1 wa fear s gewar
I

(C) Fadframs ¥ % g AW & @y F wEn
fpar < gebar B

(D) swT @ WHERY g qdr fadae a9y
% g fopan S B

(BE) orgar@ v

Which of the following is not a logical
operator?

T B G e YaTeied &l &7

(&) Cleck (B) AND

(C) OR (D) NOT

(E) Question not attempted / ST 997

Which geometrical figure represents for
Input/Output operation of an algorithm?

(A) Diagonal (B) Circle
(C) Rectangle (D) Parallelogram
(E) Question not attempted

femdll TErTifvem & 3ge—aTaeye &t e & g
fore i oMl &1 Wit Bt ¥ ?

(A) oot B) T
(C) e (D) wHaT agHs

(E) orgaia us

29

30

31

32
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Dot matrix printers are also known as serial
printers. They print one at a time.
(A) - Word (B) Page

(C) Character (D) Line

(E) Question not attempted .
sie afeam e &t difae fiet % ®u & s

ST ¥ | UE TH SR F U gixa (B=)
HLT T

(A) = B) =

(C) oraT (D) g / R
(E) orgaia ued

Find the missing term -
AT & B T B —

3, 4, 12, , 196, 1005
(A) 80 B) 60
(C) 45 D) 35

(E) Question not attempted / START 9

Anyj is trying to transfer money to an agency
from his bank. On trying multiple times,
connection to the bank failed. Because of

“the financial transactions, certain cookies

helps to terminate the session where there is

a time-out. These cookies are known as
cookies.

(A) e-commerce (B) Session

(C) Authentication (D) e-banking

(E) Question not attempted

IS I b § Rt Tl b A wiElE B¢

T ¥ | S-SR YA % A S B HAaeH

Ie T w @ ¥ Rl R % e, ge

PO T B GO B § HEE HWQ T SR

qrg-dm fivea B ¥ 3 pae

HEAT ¢ | ‘

(A) I-wHd B) w= ()

(C) vmATNEHTT (D) &t

(B) orgafa wee

The right most bit of the Binary numbers is

Reormed o  wwd At i A wHE

(A) LBB (B) LSB

(C) MBB (D) MSB

(E)  Question not attempted / sIgafa 997
[ Contd...
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Ram is the father of Mala and Rakesh is the
son of Sheela. Vijay is the brother of Ram.
If Mala is the sister of Rakesh, how is Sheela
related to Vijay?

(A) Sister (B) Mother

(©) Aunt (D) Sister-in-law
(E) Question not attempted

T, 91 &1 fUen § o Wbt e @1 e )
oo, w9 ®1 9E ¥ 1 Ay @, ey @ 95 &,
ar o, fasa 9 w7 oy wEd &7

(A) w9 (B) =t

(©) == (D) «ri

(B) aﬂaﬁﬂ el

User defined functions in C are written using
the keyword

Cﬁmﬁsaftr&mﬁawaﬁ
S H 7o ¥ frar smar ¥

(A) define (B) Define
(C) def (D) Def
(E) Question not attempted / ST 99

?bbf—

The Binary search algorithm assumes that
the items in the array are and it
either finds the item or eliminates half of
the array with one comparison.

(A) Unsorted (B) Sorted

(C) Checked (D) Selected

(E) Question not attempted

faanemd @t Tamite™ a8 AWar ¥ f6 oqe W
AR THTY ¢ U1 9% AT B ST
U1 T & AT MY e Bl JATT B SR G
T BT

(A) wﬁaﬁ
(© < fmar

(B) orgafa gev

(B) =g
(D) T T

36

37

38
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All the search engines use data
where the data is generated from the data
itself, such as logical database designs.

(A) Operational (B) Non-operational

(C) Meta (D) None of these

(E) Question not attempted

4 | 39 STT &1 YA A & el
STRT GE | S BIdT & S dlicheb STe_ e |
(A) dfpamem (B)  srifimarrd |
©) # (D) T ¥ =g T

(BE) orgaia usA

How many total medals, India won in the
Asian Games - 2023?

TREE T - 2023 ¥ WKa 3 pe fhan v

(Frsw) wra fepr?
(A) 112 (B) 109
(C) 105 (D) 107

(E) Question not attempted / sk we=

Read the algorithm and identify the type of
sorting used in it.

Set A=0 .

WHILE (not sorted yet)

find the smallet unsorted item

Swap first unsorted item with the smallest
Set Ato A+1 .

(A) Binary B) Insertion

(C) Selection (D) Bubble

(E) Question not attempted

TATIE™ & 9 qor g %6 399 Req v &
BeT§ 1 SUANT gom &7

WA=0

WHILE (1l e Berg TE gF)
I BT /T B AT Mg S B
T8 B AT AT A + 1 7T v R s o
JMEZH B WY (STEAT-—Tqe) B

(A) faemerd (B) wfyfe
©) g™ (D) - gegen
(E) orgaia s |

[ Contd...
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Ravi and Gaurav are brothers. Divya and
Tanya are sisters. Ravi’s son is.Tanya’s
brother. How is Gaurav related to Divya?

(A) Father (B) Brother

(C) Grandfather (D) Uncle

(E) Question not attempted

<R oire e o ¥ Ree ofre e d W
T 1 G AT o Wi ¥ | T o) e @

Y R?

A) frm ®)
(C) @ (D) =rn
(B) omaia ued

Who' won' the title of Mr. Bikana in the
International Camel Festival - 2023
organized in Bikaner?

(A) Kamal Siddu (B) Rajesh Meena
(C) Avinash Singh (D) Ravindra Joshi
(E) Question not attempted

THMT F AT, TS $e Iaa 2023 #

(A) ®aa fag (B) ster H

(C) afgmmer fie (D) TR iigh

(E)  orgaf@ usw
41 Find the mirror image of -

T R T AT -

‘tIZMa’

(A) tIZINd B) tISMAQ

©  1ISMP D) $ZNd

(E) Question not attempted / sgafka w9
23INAS-11 /\
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Identify the diagram and write the type of
conversion the system is performing.

Converter

e 5, 0100101

(A) Digital to Analog

(B) Digital to Digital

(C) Analog to Digital

(D) Analog to Analog

(E) Question not attempted

e &t wee @ e 5 asf Reen ama few

YehT< o1 SeTd & &l & —

| whwm | — 0100101

(A) fefem @ ergev
(B) fehrea o fofsrea
(©) wged ¥ Rfivew
(D) &gEY ¥ arged
(E) &rgaf@ usA

The button of the mouse is used to
display a menu list of different commands
related to the selected graphic component.
(A) Left (B) Centre

(C) Right (D) Diode

(E) Question not attempted

e ¥ &Y
B T2 | weh faf emiy, < w g
TS % WY H BN T, &, i el B & g R
S 1

(A) s (B) =
(©) =far D) =
(E) aij?r&a PR :

[ Contd...
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If + means X, X means —, = means + and —
means -, then which of the following gives
the result of

225 = 25+ 4 x10-5 %20

afE + BT X, X B =, + B + AT — B =, AT

ST @ Y R T gsE o

225 = 25+ 4 x 10 =15 x 20 T A o7 SR ?
(A) 1700 B) -

(C) 303 (D) 250

(E) Question not attempted / 3T 48

Unscramble the letters in the words given
below and find the odd one out.

R Y T o= & AUl Bl FARYd B TE
9T §MET ST 378 9 = 91 @1 T @i
NPE, LINCEP, RERASE, KOBO, LALB
(A) LINCEP (B) RERASE

(C) LALB (D) NPE

(E) Question not attempted / ST U

Which amongst the following is not a search
engine?

T ¥ BN G g9 9 T &7

(A) www

(B) duckduckgo.com

(C) bing.com

D)
(E) Question not attempted / START T

yahoo.com

Which option can replace ‘?” from given

relation?

?ﬁ%ﬁﬂnﬁqaﬂﬁuaﬁawﬁ%ﬁ%wmww
S ?

FAN : IDQ :: SAT : ?
(A) TDU (B) WDX
(C) UDV (D) VDW

(E) Question not attempted / STTANT U

48

49

50
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Which amongst the following is qualitative
data?

(A) Size of household

(B) Gender

(C) Eye color

(D) Age groups

(E) Question not attempted

@ Y B Y o TR oS ¥ 7
(A) =T @1 @R

(B) fef

(C) er@f @1 a1

(D) 3= @

(B) orgaia v

An unauthorised real time interception or
monitoring of private communication
between two entities over a network is
called—

(A) Eavesdropping

'(B) Snooping

(C) Phishing

(D) Virus

(E) Question not attempted

T "ead X & gt % S e IR a‘)"r
afpd aTEfis T9E STaES a1 R @l
HE ST & -

(A) = gy g (gIEEsn)

(B) dmb-wih (fT)

(C) R

(D) =™

(BE) orgaia usd

Which of the following is used while
working on Touch pad?

(A) Finger (B) Pencil

(C) Stylus (D) Gloves

(E) Question not attempted

Tote U B wid gy e A ¥ fraet s

T s ¥ 7

(A) T (B)
©) =wrwd (D) el
(B) orgaia s

" [ Contd...
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In  http://www.ncert.nic.in/textbook/
textbook.htm address which is the domain
name and which web page is requested?

http://www.ncert.nic.in/textbook/

textbook.htm TSH § BT &1 79 &1 T AT
fpq 99 9 @ defua &7

-1, ncert.nic.in

2 http

3.  textbook

4 textbook.htm
www

Choose the correct answer from the options
given below :

A fow U faemedt & @ 981 IAT &1 I HINTT:
(A) B 2,3

© 4,5 (D)
(E) Question not attempted / SaiRa ws+

1,5
1, 4

52  Without an IDE, a developer has to select,
deploy, integrate and manage all of them
(A) Virtually (B) Graphically
(C) Separately (D) None of these
(E) Question not attempted
IDE & f&mr, fpelt Somiux &t g9, J1a &,
GBI BT qAT I Fehl EERET
HEAT g8l |
(A) T s (B) W ale 9
(C) o ats ¥ (D) T § B T
(E) orgai@ wed

23INAS-1] A\
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Sumati has to calculate the average of a range
of cells of a spread sheet. She has to display
the average of each row and sum of each
column. She also has to display the average
of all the rows and columns. Consider the
range of cells from Al to H100. Identify the
correct answer which can be used by her.
" [for rows = Average (Al : A100)
( A) for columns = Sum (A1 : HI)
| for all rows & columns = average (A1 : H100)
Copy to all rows and column
(B) [ for rows = Average (A1l : H1)
| for columns = Sum (Al :A100)
Copy to all rows and column
©) [ for rows = Sum (A1 : H1)
| for columns = Average (A1 : H100)
‘Copy to all rows and column
D) [for rows = Average (Al : A100)
| for columns = Average (Al : HI)

Copy.to all rows and column and
use it for the entire sheet.
(E) Question not attempted
gl & Th Riw B e # fafea o« @1 ofeq
FrpreT 31 S8 v dfm @1 ofea aum @
T T AT fe@m 718 Al @ H100 u faame
HL | IH T TIHR T I IEAH |
[ wiferr % fog = offea (A1 : A100)
(A) | ww% fag =4 (Al : HI) }
| Tt iRl ot wivit % fg = sfea (A1 : H100)
ot dfeRral wa Wit o copy e
(B) [ ferr & o = ofrea (A1 :Hl)]
| wiw % frg = grT (A1 : A100)
' T iR T & A copy @
©) 'ﬁﬁa%mwﬁn(m :H1D) }
| wiw & fg = effem (A1 : H100)

g4 iRl wd wiw F copy wT

["dferer % forg = afra (A1 1A 100)
@) | &4 & fg = ofma (A1 : H1)
Tt dferal T wiel A copy I
: it et ofve g sugim &
(E) orgaf@ uea
[ Contd...
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The preprocessors in C are defined with

________ character.

C o N-waey &r RERIERARR I
e s 31

A / B) #

< * D) $

(E) Question not attempted / STafka 99

Identify the menu tab of MS-Word used to
add a table in a document

o stepie & Wil () Shed % Rrg Rew
AY 2 @1 yArT fmar s ¥ 2

(A) Add (B) Insert

(C) File (D) Page

(E) Question not attempted / safka w9

On dividing
the output is 10. Identify the correct option.
fgamearlt ois w 11 § W 3w,
MSeye 10 2w T| Wl forebheq @l weam |

(A) 111 (B) 011

(©) 110 (D) 101

(E) Question not attempted / SRa w9

The cost of 4 shirts and 2 pants is T 3,000.
Find the cost of 6 shirts and 3 pants (in %)?
iy 4 HHT X 2 ¥ A dma T 3,000 }, @
6 ®HT ol 3 Y2 & g R ) ar em?
(A) 3,800 B) 5,500

©) 4,500 (D) 4,200

(E) Question not attempted / sTaika us

The word ‘STATIONARY’ is written as
TATSOIYRAN in certain code. How is
‘ADVANTAGES’ written in that code?
gfy ‘STATIONARY’ @& faelt FHT—HT F
‘“TATSOIYRAN’ feren ST & | Y S&t gpe—=mn
¥ ‘ADVANTAGES’ & %8 forar s ?
(A) AVDATNSEGA

(B) AVDANSESGA

(C) SEGATNAVDA -

(D) DVAANTGASE

(E) Question not attempted / Safka w9

binary number by 11, |

59

60

61
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Which number belongs to all the geometrlca 62
figures?

HF W TET BT g St Rt g9y ¥

/Z@/

A) 3 B) 5
© 6 D) 4
(E) Question not attempted / S 987 |

63

Web based IDE’s are used to develoj
interactive websites. is an exampl

of web based IDE.

(A) Microsoft Visual Studio Code

(B) Ruby -

(C) Python 64
(D) HTML : '

(E) Question not attempted

g srenfa IDE &1 981 3@ Gaeides J99ms

& fefia w0 ¥ fog fman wman ¥

35 aenfd IDE @7 ws SER ¥
(A) "EmETe fegew =Rk de

(B) &
(©) umEN
(D) HTML

(E) orgafia uss

In mesh topology, the requirement of numbe

65

Arrange the following words in alphabetical
order. Which word will come in the middle?
MY feF T =l @B ol % e wEiad
HU| T DT A1 % qF F S ?

ANUIJ, ANKIT, ASHISH, BABY, BUSY
(A) ANKIT (B) ASHISH

(C) BABY (D) BUSY

(E) Question not attempted / STaRa 9s

Two numbers are in the ratio of 12 : 13. If
their H.C.F. is 11, then the numbers are -
(A) 144 and 169 (B) 121 and 169
(C) 132 and 143 (D) 121 and 144
(E) Question not attempted

& st & ogur 12 : 13 ¥ 1 9fk S weaw

e 11 %, @ s s Sk

121 & 169
121 ¥ 144

(A) 144 30T 169
(C) 1323t 143

(B) ogaia usw

An is a homogenous structure and
starts with index number.

(A) Strings, one (B) Dictionary, zero
(C) Array, zero (D) Array, one

(E) Question not attempted

(B)
D)

Tes TR S & KCETER
¥ g% o B
(A) &, (B) ==,
© =E ™ D) =5, ™
(E) orgaf@ g

is a standard machine language into
which Java source is compiled.

of wires for ‘»’ number of computers can b (A) Inte.:rpreter.
calculated using the formula (g) gbjeCt dOrlented
A1 AAPTeR F, 1 BT ¥ frg A A Gl G Dteools
B TET B TIET T EA B A ) msenbly
(E) Question not attempted
Fadr ¥ '  ue e e e ¥ Rvad s |
" nx(n—1) . n+((n-1) ® i Rear T B
@) 2 ®) 2 (A) FTTHR (gHiran)
nw (1) n+ (n+1) B) siwize 2T (P svenie)
€ —— O —- (C) vz ®is
2 2 (D) wRse
(E) Question not attempted / ST 954 (E) ogafa wed
[ Contd.: 23INAS-1] A\
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(111111000101101001), = ( )16
Choose the correct option -

el foweq g —

(A) 2E158 B) 2E159
(C) 3F158 D) 3F169
(E) Question not attempted / STaRa w5

Find the missing number.
M &1 B T B

15120 | 3
?
360 6
72 18
(A) 1800 (B) 7560
(C) 2160 (D) 4320

(E) Question not attempted / STgaRa U8

Public class Person
String name
String Telephone
String email
// class methods
initialise( )
// code for initialise
Public Print( )
Public Name Getname( )
return Name
Public String Getemail( )
return email
Public String Gettelephone( )
return Telephone
What will be access specifier of the field of
the above class?
(A) Public (B) Private
(C) Public-private (D) None of these
(E) Question not attempted
ST FATE & & B [qRE TEHrd B gam
HAM?
(A) @@ (B) freir
(C) wEwf-—fe (D) T & a1 &
(E) omgaia s

[ Contd...
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The 2021 census of India is its 16t census.
In which year did the first census in India
take place?

2021 & SEOFT ARy B isd! ST §)
BF Y qY F AT B GEE IO g oy ?
(A) 1872 B) 1950

(©) 1856 (D) 1962

(E) Question not attempted / STaRa we

Round robin is a method of

scheduling.

(A) Preemptive Scheduling

(B) Non-Preemptive Scheduling

(C) Both Preemptive and Non-Preemptive

(D) Neither Preemptive nor Non-
Preemptive

(E) Question not attempted

T3S TIE TH it fafy %)

(&) & # st ww

SR
(D) maﬁqﬁaﬁwmé’r{émﬁw
(E) orgafa usd

In MS-DOS, when power is turned on, BIOS
does the following tasks.
1.  Rest of OS is pulled
2. Small portion of OS known as boot

loader

Stores it in main memory

Loads it into the main memory

Self - Test
SDOSﬁm%ﬁFﬁmﬁaamﬁﬁmw
@ BIOS 1 %t & & -

oy gl OS &t T fmm wmar 7

OS @I BT 91T Y& ST Heaw |

R geg 0 F wulka wear ¥

B e i RV B ROl Y

@I S
Choose the answer with correct sequence of
tasks from the options given below:
i faw T et ¥ @ #rd & 9 B O e
BT TIF DI
(A)
(B)
©
D)
(E)

zM%w

DA W = ap

“

2 b 2

3
’49
1
, 1,

9

M\Nl}‘l

wWhu s~
Ul;hb)l\)
.lkb)r—l'—n

uestion not attempted / SgART w9

JoRs

72

73

74
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Justice Augustine George Masih has become
the Chief Justice of Rajasthan
High Court.

‘WWWH@E Tlataﬁm‘cﬁé%

3 e =marefier s= ¥
(B) 40
(D) 42

(A) 43
(C) 41

(E) Question not attempted / ST 987 |

Which of the following diagrams best fits

for the given group of elements? Judge, *

police, Thief

foret sl & @ R g W % awt ¥ frg e

SUYH HARE BN TIT BN
=rardrer, e, @R

Q@

B)

©

QQQ

(E) Question not attempted / ST w9

Which is the best software to create a
dynamic web page?

(A) HTML (B) Google

(C) Filmora (D) Ruby

(E) . Question not attempted

T ¥ Gfea I9 U5 W 6 ToT qeR suged

FIFEagT BIF 91 & 7

(A) HTML B) 7@
(©) Pewiar D) =&

(BE) orgara uss )

[ Contd...

75

(C) Tree
L (E) Question not attempted

T dfefy e (Saers) & B aed @

Out of the following topologies which is the

' least secured and reliable?

(B) Star
(D) Bus

(A) Mesh

e Tt R 37
(A) ﬁST (B) =R
© & D) w&

(E) ergafta ws

76

77
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(D)
(E) Question not attempted
A e BN A e e e @

)

Identify the gateway for simple Internet
connectivity at homes.

(A)
(B)
©

Internet Service Provider (ISP)

Server
LAN
WAN

Gt yATER (W2) @ gEa |
(A) - e aff® werr (ISP)
(B) wdx

(©) & (LAN)

D) ¥ (WAN)

(E) Gl’jjﬁﬁ‘cf EEL

Relational operators are accessed by ALU
which gives maximum of possible
outputs.

e dfear @ ALU & s Rear e &

S e _ wwe fefa gam s ¥
(A) 0 B) 1
< 2 D) 3

" (E) Question not attempted / Sgaia us

78

79

80

81
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is a networking device that extracts
the destination address from the data packet
and searches for the destination to send the
packet. It sends the signals to only selected
device.
(A) Wires (B) Server
(C) Switch (D) Hub
(E) Question not attempted

Th AATHT SUBY & Y Tiaed I Y
s Y ¥ aEY Frbwar ¥ aun oW ey @
TS T & &l e 9 S ¥ | qE bae g
BT Sult F e A ¥

(A) ar (amER) (B) =R
© fRe= (D) =
(E) orafa uew

In a loop of C program, statement
immediately exits a loop, skipping the rest
of the body of the loop.

Cunm & qu o o, 9 ¥ g
frepir gar & aem 9w qw sﬁ@qaﬁtﬁ%’ém%l
A) if (B) else

(C) continue (D) break :
(E) Question not attempted / argafd w9

Convert the fractional number 0.1011 to
decimal. Choose the correct answer.

ﬁawmamwomllaﬁmﬁasmﬁaaﬁl

e ST g |
(A) 6875 (B) 0.6875
(C) 0.6900 (D) 6900

(E) Question not attempted / ST T9

Madhu cycled 5 km south wards, turned right
and cycled 6 km and then turned right, cycled
5 km. Again turned right and cycled 7 km.
How far is she from the starting point?
(A) 23 km B) 1km

(C) 11 km (D) 13 km

(E) Question not attempted

7Y 5 fpereT & @ ok wdew e €
3T AT 1o 1Y e 6 fepmieier st 3, ofix
6T o 31 geae 5 fepmiidieT ot %1 5% fb
T T1Y et 7 fhariiex ol ¥ 1 o1 T S

JearTdr g ¥ frah w ¥ 7

(A) 23 fparer (B) 1 fperdiex
(C) 11 frariier (D) 13 freriex
(E) orgata e

[ Contd...
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Dev is working on an Excel Sheet. He enters
a formula as shown in the figure given below.

1]2]3%N.... 124 | 125
' = Sum ($Al:$A124)

gl alw| >

He copies the 'same formula in rest of 9

(Nine) rows. What will be the output?

(A) Excel will display the same output for

: each formula in each row.

(B) Excel will display different output for
each formula.

(C) Formula is wrong.

(D) Error will be displayed.

(E) Question not attempted

39 Excel $fte 9 @™ % §| e k@ 7y fos

¥ us g sifted weam ¥ —

1 [ 2] 3 Lpnen 124 125
= Sum (SAl:$A124)

gl w| >

%E&ﬁ@ﬁ&‘fﬁﬂ(ﬁr)wﬁm’f%mw

AT T SMSTYS ol BN ?

(A) Excel &+ dfermal & yd® §F & W

_ TE $eeye fe@mam|

(B) Excel ueie ¥ % WU TS $MSZYE
feemgm) :

(©) T T |

(D) I (Error) R

(B) orgaita usd

83

84

85
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An optical mouse has a light emitting device
known as

(A) Switch (B) ' Triode

(C) Diode (D)  Bulb

(E) Question not attempted

e e WY ¥ WSt Gt BT A Th

a3 ¥ e ®E ST ¥
(A) @@= (B) zmrs
(C) == D) ==
(B) orgaRa ued
The keyboard of an operating

system uses a fixed QWERTY key layout.
This can be exploited by keylogger but are
still safe than normal keyboard hardware.
(A) On screen (B) Online virtual
(C) Software (D) Semi-soft

(E) Question not attempted

fepeir arfofeT Rrem o __ o S’ ffYaa
QWERTY fo=Ime &1 & &ar 3159 & a &l
AT R HAM TGOl S §hal §, g 98
T %1 SIS’ BTSeaT 1 ger1 ¥ tferep ik
2

(A) & BB (B)  SIfeET ST
(C) wiwaaR (D) Edr—die
(E) o s

On March 17, 2023 Chief Minister of
Rajasthan announced the creation of
19 new Districts and 3 new Divisions. Which
of the following is not a new Division?
(A) Sikar (B) Dungarpur

(C) Banswara (D)  Pali

(E) Question not attempted

17 =, 2023 &1, IORgE & JEEHs A,
19 feit ofix A9 T wSt A I B GO |
frerffae & ¥ B9 @1 7T S T 7

(A) €T (B) | FRE
(C) wigarsT (D) =
(E) orgara s

[ Contd...
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(A) oI TEE
(B) o™E @™
(C) omFmar wed
(D) Hemet TH
(E) ogaRa wed

87 IDE suite consolidates basic tools require to
write and software.
(A) Play (B) Test
(C) Design (D) Delete
(E) Question not attempted
IDE Suite @Teea@ foew qer % fog |
MAYTH AT TGO DI T BT 8|
(A) < (@) (B) T& (ST HTm)
(©) fewmga (D) fedre (firerm)
(E) ormafa ued

88  All the information on the internet is passed
using  'switching method.
(A) Portable (B) Packets
(C) Pouch (D) Primary
(E) Question not attenipted
T W W TEHIEL fafy gma
BT T[ER Bl
(A) Www (gaEmE) (B) e
©) U= (D) wrufee
(E) orara s

23INAS-1] A

Which MLA was given the best MLA of the
year 2023 award by the Rajasthan Assembly
on 20 March, 20237

(A) Ganesh Ghoghru

(B) Ameen Khan

(C) Anita Bhadel

(D) Kailash Chandra

(E) Question not attempted

20 =1 2023 @Y, e feremers @Y, o faum
1 BT, garan faeme @ e i e

89

920

91
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In a Word document, Simrat has to display

the list of online sites which can further be

used by a student for preparing a research

paper on, “The Effect of Social Media on

the behaviour of Students.” Which feature

of word is the best suitable to prepare the

list?

(A) Linking (B) Bullets

(C) Numbering (D) Graph

(E) Question not attempted

s o€ sEghe ¥, R @l sieET w5e @

@ﬁuﬂﬂhm% ﬁﬂﬁaﬁﬁ@mm
BT % AR UT W WA w1 gHE o

a9t O FAR B g SwEnT e s

@ﬁ%ﬂﬂaﬁ'{%%ma‘éaﬁaﬁ?ﬁrfaa’rﬂm

UG &7

(A) ffE (B) i@
(C) ==ftr (D) %
(E) ar:ﬁﬁ?r EES)

is mechanism by which one class
acquires the properties - data fields and
methods of another class.
(A) Class (B) Encapsulatlon
(C) Inheritance (D) Polymorphism
(E) Questlon not :attempted

e & Rorass &0 T @ gE

Tt @B ﬁa‘mﬂm st & oft faty a?f T
HTT T

(A) EPT‘( ) (B) wgA
(C) ergaifys (D) wg&ua
(E) aqa?rﬁ?r R

In a Data Entry Office, the computer centers
are on 15t and 4t floor. Both the centres are
connected three LAN. However the signals
take time to travel. Which amongst the
following hardware can improve the data
transmission?

(A) Modem (B) Repeater

(C) Router (D) Computer

(E) Question not attempted

THh 32 U FEEE F, G FR T T
a“ré’rﬁﬁmw%:a‘m‘rémLAN%wﬁ

T ¥ | Rl (Eha) @ ugaw A §9d l
Frfaiaa o @r a?ﬁ |l FEAAT ST e H
U HT Thal 87 |

A) LIEE| (B) fdex
(©) WX (D) X
(BE) oraia s
[ Contd...
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Six boys A, B, C, D, E and F were born on
the same day but in different years during a
span of six years.

A is older than C -

B is older than both D and E

F is 2 years older than D

A was born either in 1952 or in 1953
The oldest member of the group was
born in 1950

If F is the oldest of the group, then identify
the correct statement -

(A) € was born in 1954

" (B) A was born in 1952

(C) D was born in 1951
(D) B was born in 1951

(E) Question not attempted

®: W% A, B, C, D, E & F ot &1 o= w&
& T &1 ¥, Uy ST GEh TH Bl Y T

BT ¥
1. A, C3a w1 d

B, D 3R E g4f ¥ w37 81

2.
3. F D%24x s3I
4

AT aras 1952 &, a1 T 1953 &
ST T

5. G99 ¥ 959 1950 ¥ w1 ¥

gt F a5 & 9e@ 931 ¥ o 92 %ye vsanfa—
(A) C &1 s 1954 9 gom &l

- (B) A @ W 1952 § g il

(C) D =1 5= 1951 ¥ gam anl
(D) B @1 i 1951 & gom &l

(B) e e

If 20% of 500 is equal to x% of 400. Then
value of x is -

Tl 500 @1 20%, 400 F x% & STEK & @ x

T "I T ¥ 7
@) 23 (B) 24
©) 25 D) 26

(E)  Question not attempted / ST 9

94 Every OS has a which permanently

95

96
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resides in the main memory of the computer
to perform some of the basic functions.
(A) Centre (B) Kernel |
(C) Hardware (D). Node

(E) Question not attempted

TS OS HUH o & ot s @ ge
A9 § Red @ ¥ qur u amrg BEl o

HE % T wem e ¥

(A) &= (B) @&w
(C) TR (D) =iz
(E) orgaia wsd '

‘Which option can replace “? : 2> from given

relation?

Temperature : Thermometer :: ?: ?
(A) Water : Milk '

(B) Length : Scale

(C) Bank : Money .

(D) Height : Barometer

(E) Question not attempted

& ™ v ¥ weTews Rer % we W s
T ? T BN

QO qreEdr o ?oc ?

(A) Y ogH |

(B) w=E® : 9UH

(C) ¥ : sum

(D) S : argarETd

(E) o usd

If ‘TELEPHONE’ is
‘FOPIQFMFU’ in a certain code. How is
‘MYSORE’ written in that code?

aft ‘TELEPHONE’ & et gz—wmon &
‘FOPIQFMFU’ foran stmam ¥ 1 df S&t ge—wmen
# ‘MYSORE’ &' %& ferar smam ?

(A) NZTPSF (B) FSPTZN

(C) FSPZTN (D) NFSPZT

(E) Question not attempted / STafka ws+
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97

Which ofthe following comes under remote
login?

1.  Video conferencing
2. Talking on phone
3.  Telnet

4.  Any PC

Choose the most appropriate answer from |
the options given below :

(A) Only 1 (B) 1and?2
(C) Only 3 (D) 3 and 4

(E) Question not attempted

o= & R witmge % siaqvia @ omar ¥ 7
1. fafsar wst=

2. BF U IEEd

3. @

4. @8 PC ,
e w1y fepedt & | WE I @1 GG B
(A) Faa 1 (B) 1uwd2

(C) ¥aw 3 (D) 3 w4

(E) orar@ usd

99

You are given below a question followed by

two statements I and II.

You have to decide whether the data provided

in the statement is/are sufficient to answer

the question.

Question :

Find the surface area of a cuboid.

Statement :

L The sum of the length, the breadth and
the depth of a cuboid is 20 cm.

II.  Diagonal of the cuboid is 5./5 cm.

Answer - '

(A) If data in statement I alone is sufficient
to answer the question.

(B) ' If data in statement II alone is sufficient
to answer the question.

(C) 1If data in both the statements I & II
together are necessary to answer the
question.

(D) If data in both the statements I & II
together are not sufficient to answer
the question.

(E) Question not attempted

! S Teb 99 3T I 918 & HU 1 8T

II f§u Q@ ¥\ oTuehl U8 oF &1 BN foh HuA

# e T ST 9eH &1 ST & % f9g ward ¥

q1 & ?

99

Teh O9TH &1 I &% feha=l &I ?

wY ¢

I o @ a9TE, 9IRSl HaTg @l anT
20 9.4 ¥

98 Who is the first Lokayukta of Rajasthan? - I o &1 el 5./5 @ ¥
(A) D.P.Gupta (B) M. L. Joshi AT S —
' ; (A) TRk ahet HeT 1 &7 STeT U9 &I I 3
(C) K.S.Sidhu (D) L D.Dua % frg v 31
(E) Question not attempted (B) it wuw II ¥ fean ar 17 a1l U9 @l
’ I o9 & foQ i ¥
| TSR 1 TE BTGt T & 7 (C) aft 9T w1 FaX 3 % frw @ [ ok 11
A) S e (B) TuH. wa. wish I A T s orfh eravTew %)
: ‘ (D) afE oy [ o 11 <F & o s1en, us ot
©) & wa fg (D) om. & ger ST ¥ % Rrg e T ¥
(E,)f eﬂa?rﬁ'cr LEL] (E) orgaf@ ued
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is the separation of the logical view
of data from its implementation.

(A) Control Structure
(B) Data Abstraction
(C) Testing

(D) [Initialisation

(E) Question not attempted

m%ﬁmgﬁaﬁwmmm
 JUFBIHI T
(A) s @
- (B) 1 gyEpIr
(C) uhe
(D) AT
(BE) orgaia wew
AR A
8 2 4
19 19
(A) 5? B) 7“8—
19 17
© 6‘8— D) 7;

(E) Question not attempted / srafka ws

Which of the expression correctly defines
the statement?

@ W st Rg s @ affia swar § 2

Check whether the values of 3 variables
agel, age2 and age3 are equal to each other.

sita w6 3 WX agel, age2 qum age3 %1 A
T qEC & e )

(A) agel = age2 = age3

(B) agel ==
(C) agel ! = age2 ! = age3

(D) agel = age2 and age2 = age3

(E) Question not attempted / SN U9

age2 and age2 == age3

103

104

105

106
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Four sets of numbers have been given below.
Out of which, three are alike in some manner
while fourth is different. Choose the odd
one.

e g9 & wemnell % ar wgeny ¥ ¥
Yl § B AT §, ek e qgeEy 39
G o ¥ P wgew @ s we

(A) (6, 8, 100) B 5,9, 99

© @3, 9,90 D) (@, 8, 113)

(E) Question not attempted / Sraifta w9

In LAN, connectivity can be created using

Wi-Fi, or cables.
A TV (B) Radio
(C) Mobile (D) Ethernet

(E) Question not attempted

LAN & Wi-Fi, ar HIA B WG 9
T T fRaT S wehar B

(A) TV (B) M=

(C) HrrEe (D) zaT

(E) orgai@ usw

Solid State Memory Sticks are commonly

used in our day to day life. They are available
in various storage sizes. Identify the device.
(A) Cache (B) Compact Drive

(C) Pen Drives (D) Printer

(E) Question not attempted

3 Rafa A48 Rewd a1 waim &7 e s &
B T TE [T e a0 e H Suwey
@ ¥ 3T U B qEEE

(A) Ha (B) @Y% SR
(C) W sma (D) Biex |

(E) ormgara e

Four persons meet at a party. Each of them
shakes hands with every other person. How
many hand shakes are in total?

R i OF Rl F U el & e ¥ el 9
o @l Te R oW ¥ T Rem ¥ gw

et s T Ry man ?
A) 10 B) 12
(C) 6 D) 5

(E) Question not attempted / SgARa ws
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107 Netbeans have visual components to drag | 110
and drop front end components, is
an example of it.

(A) Debugger (B) Plug ins

(C) Radio buttons (D) Keypad

(E) Question not attempted

A § g9 UeH B ¥ o i | ofe 9% %

HTh! DI W< BIET BT B BT T

TUHI TH SIET )

A) Fwr (B) wT-E

© Wiwew (D) Hids

(E) agafa ge7 111
108 signals are discrete and generated

by digital modulations.

(A) Analog ~ (B) Digital

(C) Noise (D) Bandwidth
(E) Question not attempted
e owiaa § aur 3@ fefvew

S q g fpar s )

(A) wgw B) fivea
(C) X (D) dsfyy
(E) - srgat@ usw

109 QR consists of three distinct squares. First
two are on the sides of the top and the last
one is on the of the bottom.

(A) Left (B) Top
(C) Right (D) Center
(E) Question not attempted -

QR % A9 ff=1 yebX & ot B ¥ | vt & I
@l geTell IT qen ot Y | B 81
(A) = B) ww
(©) = D) #e
(E) ogaf@ v
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is a network security system
designed to protect a trusted private network
from an untrusted outside network to which
it is connected.
(A) Bridge (B) Cookies
(C) Firewall (D) SSL
(E) Question not attempted
Teh e geam yune & R fasaw
ol ead @, efaveard sl Yeudh R e

T 8, @ GI&m % fow = ww ¥

(A) o B) Fo&=
(©) wrEtE (D) SSL
(B) orgara e

Following steps are followed for a program
written in a high level language by a

computer -

1.  The program is compiled into object
program.

2. Source program is read and loaded in
memory.

3. Compiler reads the program loaded in
memory.

4. Machine language routines for reading
and writing data.

5. Compiler may be removed from
memory.

HYT ERT T T Y Sl W W ¥ e

& fooe = ¥ -

1. & 9w sissiee wom & dufed gar ¥

2. o o @ A N dofia fear wrar &
TqUT IGT ST

3. wues, 9O H Ry o, @ vedr ¥

4.  wsi s Fraf w0 @ T @ ve o
foew &% forg =6 ¥

5. dumesm @ AN ¥ oT fhur W wear ¥

Choose the answer with correct sequence of

steps from the options given below:

e R T feremeat & @ w70 % R B I I

BT TIT HINTT:

(A) 2,3,1,4,5
(B) 5,4, 3,2, 1
© 3,2,1,4,5

D) 4,5,1,2,3

(E) Question not attempted / eraia Us
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The total teachers in a state are 6000. Their district- | 114
wise distribution has been shown in the given pie-
chart. Study the pie-chart carefully and answer the

questions that follow from (Q. Nes. 112 - 115).

T H T 6,000 TETTE &1 3T GHI BT RTarT fawer
e arsere R & fearar w4y €1 uEEre @t arerye s
78 Sl 7ol & g7 &1 (A9 wEr 112 - 115) '

Percentage Wise Distribution of
Teachers in 6 Districts

115

112 How many teachers from district C should
move to district F so that both the districts
have the same number of teachers?

o sreamaes e C & fyet F o o1 &1, o
(A) 1020 (B) 660

(C) 960 (D) 840

(E) Question not attempted / 3TANRT 9$7

116

113 The difference of twice the number of teachers

of district C and thrice the number of teachers
of distrct D will be?

 aft et C ¥ oreamamt %1 gE @ g o R
D % aTeaTgen! sl EEAT Bl Qi A1 HT a1 S

(A) 960 B) 720
(C) 840 (D) 660
(E) Question not attempted / STaRa U9
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Ratio of the number of teachers in disctrict C
to the number of teachers in district B will
be-

@ C oiR e B & sreamyes! @l Tea &1 ST
<1 B 7 : '

(A) 5:4 B) 6:4
C 7:4 D) 4:7
(E) Question not attempted / SRR 987

Ratio of the number of teachers in district E
and D to the number of teachers in district B,
A and F will be -

et E 3t D & sreamges! @ g@& X e B, A

3 F % ereamaent s ST ¥ 19T &I
A 1:1 (B) 2:3
(32 (D) 3:4

(E) Question not attempted / STANRT 9§

Operating system allows the file system to -
A)
B)

Rearrange the characters of the files.

Create, Access, Maintain a directory
and protection of file from

unauthorised access.
(C) Change the extension of the file.

(D)

Transferring files from one computer
to another.

(E) Question not attempted

e Reew, wEw Rees &t feass fog siftea
HE T — ‘

(A)

B)

WIS o 0T % SR YT Y: A & T

sTREe &1 T, S Bl B @
AT BIEA Bl SIS ST & FAMT

IS & TaISIM @l Saall

WEA Bl Uh hgel ¥ @l Hgel H
ESIEIREU

STaRd 9T

©)
D)

)
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. the technologies used in

(A) Intranet

IPSEC, IP Encapsulation and Tunneling are
only.
(B) TCP

(C©) VPN (D) Internet
(E) Question not attempted

IPSEC, IP Gf¥<iiester qeon e Tal aeeiih

T, RFer wEm . # e
(A) sgrie (B) TCP
(C) VPN (D) T
(B) ormana usT

Identify the wrong number in the series.

QT YEar ¥ A @ T DI |

145, 122, 92, 82, 65, 50

(A) 65 B) 92
) 82 D) 122
(E) Question not attempted / STTART T

Can we create an mp4 file of a PowerPoint
presentation?

(A)
B)
©)
(D)
E)
T T UER@ise TN Bl mpd BIEA
qHd 7

(A) TH haw WES §9 Thd & |

(B) 9 %ad mp3 BEA I THd ¥

(C) =9 %haw Gsiew (YHHIE) a1 §hd B
(D) & mp4 ®EA I Thd 2|

(B) orgaia usw

We can create only slides.

We can create only mp3 file.
We can create only animation.
We can create an mp4 file.

Question not attempted

120

121
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Each file can be accessed through a filemode.
These file modes decide what action can be
performed in the file. If the file mode is <r>

then we can only the contents of the

file.
(A) read (B) write
(C) delete (D) overwrite

(E) Question not attempted

TAE HEA Bl BEA HIS T AT fEar S
gohal &1 IT WA His MU wear ¢ 6 sw
BiEd § @i 91 frar @ we ) afE wEd q9e <>

B A T O9 BIEA Bl had  Gad ol
(A) we (B) fua

(©) fra (D) giET &
(B) orafd 9ed

A, B, C, D and E are seated around a circular

table facing centre.

D is between A and E, C is between B and
E in clockwise direction. Who is on
immediate left of B?

A, B, C, D 3'X E @l Us e} A U, 5
B TE & B, AT G 98 2

D,ARE® S8 do1%, C,B3RE & ¥
¥ 2t &1 gg @l fean F Fo1 1 = B % FreweaH

Y 8T a1 37
(A) C (B) D
©) E D) A

(E) Question not attempted / STIART AT
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Soham has created a word document on the
topic G20. He has written text matter, images
and a table containing, the list of countries
and the dignitaries who visited India during
G20 Summit. His friend tells him about a
term of computer which is generally used
by the printers. The term is WYSIWYG. The
full form of it is -
(A) What you Set is what you Get
(B) What you See is what you Get
(C) What you Simplify is what you
Generate !
(D) What you Send is what you Generate
(E) Question not attempted
Ed ¥ G20 fawg X wh o€ slegHe s
wan o, fos qar wfeel e G20 % R
AT S9N & T HEHMN &b AW il &)
SHeT B I YT W TH =Eer & a o
A ¥ S R 9 fieX & swm fear
ST ¥, s WYSIWYG ¥ 3@ 9= %1 qof
w9 31

(A) R g W IR I T

(B) = g @ 59 @R g N

(©) =~ g fruedeE 39 =~ g ome
(D) =© g ¥ 39 ‘R g WL
(E) ergafa usw

Development tools like text editors, code
libraries, compilers and testing platforms are
available in a framework of IDE.
(A) Multiple '(B) Different

(C) Single (D) None of these
(E) Question not attempted

HUEE U1 <R wew, IDE &

HHadh F HeE Ted ¥

(A) & (B) fafr=

©) Twrw D) T ¥ B T
(BE) orgaft@ g
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124 You are given below a question followed by

two statements I and II.

You have to decide whether the data provided

in the statement is/are sufficient to answer

the question.

Question :

A man standing on the bank of a river

observes that the angle subtended by a tree

on the opposite bank is 60°. When he moves
away from the bank, he finds the change in
angle. Find the breadth of the river.

Statement : L

L. The changed angle is found to be of 30°.

II. He noticed that when he moved
40 m away from the bank, tree subtends
30° angle on other side of the river.

Answer -

(A) Ifdata in statement I alone is sufficient
to answer the question.

(B) If data in statement II alone is sufficient
to answer the question.

(C) If data in both the statements I & II
together are necessary to answer the
question. ,

(D) ' If data in both the statements I & II
together are not sufficient to answer
the question.

(E) Question not attempted

ST A T U7 3N SHb a1 & & 1 i

II T T ¥ | el I OF & B 6 wUe

# foan T ST 9eT &7 39T I & foe qaie ¥

q1 & ?

s

a1 T weT T =l saan § 6 ue gar g

& % AL BIX 9T 60° BT BT e T fpeTe

¥ oiEl g S 9T OF §1 BT & o5 9@ aior A

ST ST &, &Y B WSS S0 D

FUA ¢ '

I wg&aT T &7 30° &1 ¥

II. =gfes < fepm & 40 Hiex X <Trem & & g&
BT &I % GELBIR 9T 30° 6T B ST B |

S E -

(A) T Bad HUT [ BT ST 99T &1 I o
% fou gara ¥

(B) 3k waw wue I & ez =y s1er 997 @t
IAT o7 % fQ gatd ¥

(C) afy ue @1 IAX 39 & T w1 o 1T
T ¥ -fean st Sy stevmes ¥

(D) aft wu I T I a9 & fean mam srer,
99T @1 STX N & fQ qaia wEf )

(BE) orgara s
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125 I am a memory device. I am composed of
transistors and capacitors. I am able to access
the data fast. Who am I?
(A) Dynamic ROM
(B) Static RAM
(C) Dynamic RAM
(D) Static ROM
(E) Question not attempted
¥ e TR 97 €1 g9 iR Td Bifie g
ST T B | H Aot ¥ ST B YT B Feball
EIH B E?
(A) Tifes ROM =
(B) @i RAM
(C) wifle RAM
(D) wWfgw ROM
(B) eorala 9T

126 Rashi is twice as old as Sunita. Three years
ago she was three times as old as Sunita.
How old is Rashi now?
(A) 12 years (B) 8 years
(C) 6 years (D) . 7 years
(E) Question not attempted
TR G & G IH B ¥ A 9o g sw
3T GrTaT Y org | A o o1 it A eEE
g TG B
(A) 12 = B) 8 a¥
€ 6ad (D) 7 =
(B) ergafa usw

23INAS-1] A

127

128

129
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While transmission of data from a sender to
receiver using Modem on Internet, the data
is first converted to from

(A) Analog, Analog

(B) Analog, Digital

(C) Digital, Analog

(D) Digital, Digital

(E) Question not attempted
USE ¥ AR q% ST bl WFA 3THE T
wed % ER1 e € R ster e
g ¥ yafaa g ¥

(A) oiged, sigeq

(B) rgen, ffirem

(C) feforem, srgem

(D) fefstea, fefitem

(E) orgaia uee

The octal number system has a base of

ST ST T IS o ST eram & | |

(A) 10 (B) 8
©) 16 D) 4

(E) Question not attempted / 3TART T

If ‘Earth’ is called ‘Water’. ‘Water’ is called
‘Sky’. ‘Sky’ is called ‘Land’ and ‘Land’ is
called ‘Roof’. Then where would a bird fly?
(A) Sky (B) Land

(C) Water (D) Roof

(E) Question not attempted

Tfe geaT @l Ul HET WY, U Bl B B,
MBI Bl T He iR T &l Ba BT, A«
Tl Wl X oI P

(A) et (B) i
(C) umr D) =a
(B) organa wed
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130 Given below is a statement followed by two

courses of action I and II. Assume statement

to be true and decide which of the suggested

courses of action should follow :-

Statement :

One of the students in school is behaving

very rudely with other students, even

physically hurting them.

Courses of action :

I. . Student should be expelled from the
school.

II. Counsellor in school can have sessions
with that student to understand and
change his behaviour.

Give answer -

(A) IfI course of action is to be followed.

(B) IfII course of action is to be followed.

(C) IfIand II both courses of action are to
be followed.

(D) If none of the courses of action is'to
be followed.

(E) Question not attempted

I s Hye R T ¥ Rrads gvan & e

] of 11 & 7 ¥ % o g W ofR ot

f5 geg TQ HE A Y RS w1 ST BT

IRy -

FUA ¢

fRyerera 1 T e, ey fEnfiEt & w95

HIX TITER BT &1 & 3K Sb a1 A9 A

%Y TET T

FAAEN

L fenel o femea & Freeia & 3 =g

I frendt %, @@ HEEEX & A, T B
aifeT e @ fendt @ @vs w6 o]
Ig% e § ufads @1 qah |

TaX AT —

(A),aﬁmﬂa@lmwm%l

(B) aft wrfam I &1 e BT 8

(C) wf sriamel [ 37T I S a1 aTe BT & |

(D) Rt o wrfardl & g Tl BT

(E) orand 9ed

131

132

133
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fact (N)
if (N equals 0)
Return 1
else
Return N * fact N —1)
The above algorithm is a specific example
of
(A) Selectlon (B) Sorting
(C) Recursion (D) Displacement
(E) Question not attempted

U TAME® %1 T TINTE SEER
g

(A) T (B) Bl

(C) veTaEs (D) Teramg=

(B) ogaia ued

Repeated division method by 2 is used to
convert to

(A) Decimal, Binary

(B) Binary, Decimal

(C) Decimal, Decimal

(D) Binary, Binary

(E) Question not attempted

2 & srtar ww faf & s g
¥ geem & fog fear smm ¥

(A) wymwd, fEememd

(B) fasmurdl, smera

(C) =ymed, IeHEd

(D) fasmerd, fgsmerd

(B) omgana ued

is an example of analog signal and

134

is an example of digital signal, 135

rexpectively.

(A) Smell, scanning

(B) Scanning, smell

(C) Smell, speech

(D) Word document, speech

(E) Question not attempted
Hgyr Rael @1 T ST ¥ Ul
fefree Ravwiet @1 IETEXT ¥l

(A) T, ATl

(B) whHEE, Y

(C) g, 9masd

(D) oS siEgHe, A

(E) orgaia usd
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Ravi and Kunal are good in Hockey and
Volleyball. ‘Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are
good in Cricket and Volleyball. Sachin,
Gaurav and Mohan are good in Football and
Baseball.

Who is good in Baseball, Cricket, Volleyball
and Football? '
(A) Sachin (B) Kunal
(C) Gaurav (D) Ravi

(E) Question not attempted

TRy afx gomet ETenl AT e ¥ o7 | |raw
3 T e R YEEia § o ¥ MA@
oIl fipthe ST afciaT & ot ¥ | @R, e
St e g R dedi § o
Yuad, fhdpe, ardE aﬂ'{ pead d DA
3T 5 7

(A) @R (B) Ppomw
- (C) Tra (D) <
(B) orar@ usd

Write in ascending order

(.01)3, 0.0011, .0012, —1.0, 0.15

Which number comes in the last?

& T gemmel @ el e ¥ fuRay ok s
HNT 5 B & dear oid o e ?

(.01)3, 0.0011, .0012, —1.0, 0.15
(A) (.01)3 (B) .0012
(C) 0.15 (D) -1.0

(E) Question not attempted / SANT T
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136 Given below is a question followed by two

statements T and II.

You have to decide whether the data,

provided in the statement, is/are sufﬁc1ent

to answer the question.

Question :

Find the cost of fencing a rectangle at the

rate of ¥ 10 per metre.

Statement :

L The Length of the rectangle is 30 m.

II. The Breadth of the rectangle is twice
of its length

Answer -

(A) If data in statement I alone is sufficient
to answer the question.

(B) If data in statement II alone is sufficient
to answer the question.

(C) If data in both the statements I & II
together are necessary to answer the
question.

(D) If data in both the statements I & II
together are not sufficient to answer
the question.

(E) Question not attempted

mﬁ%@uﬁaﬂ?mwa‘raﬁmlw

Il g U ¥ U & TF BEA B b HAT

¥ feam T ST Wed %1 ST I & Ay v ¥

a1 Tl ?

984

TH AT B AR a6 S a0 gt < 10

giy e @ T T I B

FUA ¢ '

I 3mgd @ W 30 He §

. omad @ deE @ g & & A 8|

I T -

(A) TR Paw HuF 1 BT ST 997 & ST &
% fog wata 2

(B) af saw wue [1 ¥ fear Tan s1er 999 &1
ST 3 % Ty wata 2

(C) af we @1 TR 3 & fg e [ ef 1T

I F Rar s S erEsTs ¥
(D) afE ®ys I i [ M # f&am s1er, e a1
T 3 & fou vaia @ R

(E) ST 99
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137 The smallest 6-digit number exactly divisible
by 201 is -

B ST B W B wer w4 S e 201
 qof wrog & -

(A) 100500 (B) 100098

(C) 100089 (D) 100299

(E) Question not attempted / SIgaRa w3+

138 During May 2017, a very popular malware
' infected almost 2 lakh computers around the
world. It demanded payments in Bitcoin
crypto currency. It made its victims cry. It is

known as
(A) Wanna Cry - (B) Baby Cry
(C) Crypto Cry (D) Node Cry

(E) Quéstion not attempted

7§ 2017 % S, T Y9 Wbl AT ¥ ¥
fasa & T 2 W e @ wewha fear) 9
fe—areg faet w4 § sy =i e anl ge
VI STl ohY ST | S T ST &

(A) T W (B) ¥ »rE
(C) et w1 (D) e wrg
(B) orafta we=

139 IDE stands for Integrated Development

(B) Environment

(D) Educational

(A) Enterprises
(C) Evolution
(E) Question not attempted

IDE @1 a1df ¥ — $3hRe Saaude

(A) ®omws - (B) TEEEE
(C) s (D) TSI
(E) orgafa usw
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140 If 15a + 15b = 750, the average of @ and b
- will be -
qfE 15a + 15b = 750, & a 3R b &7 siraq
BT—
(A) 30 B) 45
© 25 ®») 15
(E) Question not attempted / Sgafta ws

141 Below is given a statement followed by some
conclusions. Assuming statement to be
universally true, decide which of the

conclusions follow from the given statement. .

Statement :
No cap is socks. Some caps are gloves.
.Conclusion :
L All gloves are socks.
II.  All socks are gloves.
IM. Some gloves are caps.
Give answer -
(A) If only conclusion I follows.
‘(B) If only conclusion II follows.
- (C) If only conclusion III follows.
(D) If none of the conclusions I, II, III
follows. _
(E) Question not attempted
e T Hue R ¥ el Sud W g freed R
T ¥ 1 %Y B e ' § @8 9 gy Profg
7q 6 @ ar e wd ¥?
HYT '
% A9 JuE T8 ¥ pu At T ¥
ey :
L o s @ 3
L o qod e ¥
II. %8 s@m AfEr )
I AfY -
(A) e I freny qmg B
B) Faw II fread =g %1
(C) aw I frepd A ¥
(D) =L = & = I foend meg 3

(E) goia ws

[ Contd...

142 Data protection is very essential in today’s
digital age where millions of data is created
and are illegally used by some. In order to
protect data, __ grants legal rights to

creators for their original work.
(A) IPR (B) Copyright
(C) Trademark (D) Licensing

(E) Question not attempted

a1t o fefirew g & =rer gram eg wwd ¥ wet

wrEl e @1 Frtr @ & qen 5@ o @ %

TR - a0 & SudT fear s &1 s
B g @ % g Pt @
BT SR Za ¥

(A) IPR (B) wnRE

€) ¢= = (D) wgdfET

(E) srgafta wew

143 Find the missing figure in the diagram given

below.

= ¥ 9 o R s A

(E)  Question not attempted / s/gafa wsw

23INAS-1] A\ -

144 The greatest possible length which can

145

146
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(C) Compiler

measure 80 meter 64 cm and 96 meter.
(A) 384 cm B) 960 cm

(C) 840 cm (D) 480 cm

(E) Question not attempted

qE Aftbad WHg W o 80 Hex 64 A,
3T 96 HIRT & w=E B WY THd T

(A) 384 3.4, (B) 960 .
(C) 840 a4, (D) 480 ¥+

(E) orgafa wea
IDE is basically an environment of tools like

(A) Text Editor (B) Debugger
(D) All of these
(E) Question not attempted

IDE wee: SUHN T AT &
(A) T ER (B) TR

(C) HuEeT (D) ¥ @i

(BE) ergafta wew

Which amongst the following is not a way
to protect the system from malware? |

(A) Opening the pop-ups

(B) Firewall protection

(C) Avoid using the public Wi-Fi
(D) Taking a regular backup

(E)  Question not attempted _
T G 1 R e w1 e ¥ gefi e
EAICRET IS i i

(A) dY—31T B GresT

(B) wiataEta gran

(C) ufE® Wi-Fi & SudRT & s9+1
(D) frafm Yw—sw &=

(E) orgafa wew

[ Contd...



The given graph shows the data of the students of

five schools who appeared and qualified in the Final

Board Examinations. Study the graph carefully and
answer the questions from (Q. Nos. 147 to 150).

e T T4 a1 9ie fEneat @) 9 @t Hofae gier
8, g fsa BT 7 51T forar & o7 3w & Pt fabaa BT
gl g & @i qoifar &1 91 @ GraETiga® aed
g9t & gT Aforg/ (zrswamf%lﬂ- 150)

NUMBER OF STUDENTS —»

147

23INAS-1] A

i =] Appeared [ Qualified

B it S
2

2500 -~ i} === mmm e e e B

T D 513
SCHOOLS —>

Find out the total number of students of all

the schools who could not qualify the Exam.
Tt el & T F Bt (STeioT) 3T P ferenmiiay
I TET T DI |
(A) 4250 (B) 4500
(C) 4750 (D) 3750

(E) Question not attempted / ST 987

148 Find out the Ratio of the number of students

149

150
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appeared in school A to school B.

Tl A 3T B % Tie & Suferd g B! Bl g

T B |
(A) 3:4 B) 2:3
(€ 5:3 (D) 4:3

(E) Question not attempted / ST T

Find out the ratio of the percentage of students

passed in school E and school D.

e wfrera fenedl et E ofik et D & Sl

TY, ITHT ST S DI |
(A) 4:5 B) 5:6
€ 6:5 D) 5:4

(E) Question not attempted / ST T

Average percentage of passed students of all

schools is approximately :-

Ty et & st gu Rrenfi @ o wfrera
TS —
(A) 64% B) 65%
(C) 66% (D) 70%

(E) Question not attempted / sTgafRa w7

. [Contd...

SPACE FOR ROUGH WORK / T% &% @& fora =

23INAS-11 A
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